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6 | (a) 1 mark for each row 4 No mark if more than 1 tick on a row.
(AO3 2a)
Variable Boolean | Char | String | Integer | Real Allow other indications of choice (e.g. cross) as
UserName i long as clear.
EmergencyPhone v
DoorSensor v
DoorTime v
6 (b) 1 mark each: 4 Selection could be done using IF statement, case
(AO3 2b)

« Attempt at using selection / condition controlled loop

* Checking if system armed // while system armed

+ |f Door Sensor active OR Window Sensor active (both
checks required)

« calling SoundAlarm correctly

statement or any other sensible valid method.

Allow reference to Alarmhictivated or
equivalent instead of systemarmed

Ignore any inputs or modification of variables.

Allow True / False as strings. Allow checking
against strings (e.g. if Systemfrmed ==
“active”)

Allow checking armed/disarmed for BP2 and BP3

Only award BP4 if SoundAlarm correctly called /
not called in every situation. If issues on previous
lines (e.g. lack of brackets where needed) means
this is not the case, do not award BP4.

Checking could be done by evaluating variable
directly (1£ SystemArmed)or by comparison

(if SystemArmed == True)

Example answer 1

if SystemArmed then
if DoorSensorlActive then
SoundAlarm()
else if WindowSensorActive then
SoundAlarm()
endif

endif

Example answer 2

while SystemArmed then
if DoorSensorlActive then
SoundAlarm()
else if WindowSensorActive then
SoundAlarm()
endif
endif

Example answer 3

if SystemArmed and (DoorSensorArmed
or WindowSensor) then
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SoundAlarm()
endif

Note — above example needs brackets,

if SystemArmed and DoorSensorArmed
or WindewSensor then

is not logically valid for this scenario (will sound
alarm when not armed if window sensor is active)

Example answer 4

if SystemArmed and DoorSensorArmed
ScundAlarm()

else if SystemArmed and WindowSensorArmed
SoundAlarm()

* SELECT SensorID // SELECT *

* FROM events

¢ WHERE Length > 20 AND sensorType =
)

“poor®

WHERE sensorType = “Door” AND Length > 20

endif
6 (c) | (i) 1 mark for 1
* Line 04 Ll
6 {e) | (iiy |1 mark from 1 Do not penalise case, spacing or minar
¢ sensorType ] misspellings.
* sensorNumber
¢ sensorlD
6 {c) | (iii) | 1 mark for 1 Ignore minor misspelling.
* Boolean anll
Accept Bool.
6 |(c) |(iv) |1 markfrom 1
* Line 01 A
* Line 02
* Line 03
* Line 05
6 {e) | (v) |1 mark each 2 Ignore minor spelling errors / differences
+ Selection frioa
* Seguence Do not accept examples (e.g. IF)
6 (d) 1 mark each 3 Max 2 if out of order or anything exira that affects
{AO3 2c)

the output.

BP1 can select multiple fields as long as
SensorID is included.

Ignore case. Only penalise spaces if obvious.
Field names must be correct.

“door” must be in quotation marks for BP3. Allow
quotation marks for field names and table name

BP3 can use == or = for equivalence.

Allow alternative WHERE clauses that are
logically correct (e.g. WHERE length »>=21)
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Input date and store in variable / use directly
Access all seven (indexes 0 to 6) events in array
!/ loop for each event in array

Attempt at selection. ..

...to compare date input against date in array
(element 0)

...adding Length (element 3) from array to the total if

dates match.
Outputting calculated total and date in appropriate

6 (&) 1 mark each & Must be clear that answer is a procedure
Define procedure Savelogs... (AO32b) | definition, do not credit calling procedure for BP1.
...with two valid parameters Allow function definition.
Open file (for write/append) ...
... using the file name passed in as parameter If parameters are later overwritten, do not credit
Write data to file... BP2 but FT for BP4 and 6.
...using the data passed in as parameter )
Close file Closing text file does not need reference to file
name/object - e.g. "close file"is enough.
However, if given reference must be correct.
If code given outside of procedure, do not give
BP4 and BP&
Allow FT for multiple occurrences of same
mistake (e.g. not using filename correctly for
open and close)
Example answer
procedure SaveLogs (data, filename)
logFile = open(filename)
logFile.writelLine (data)
logFile.close ()
endprocedure
6 | () [ |1 markfor: 1 Accept type casting Do not accept conversion.
Casting / cast (A9323) | po not accept examples of casting.
[ ® | (i) 1 mark each to max 6 L BP2 can be achieved either by iteration
(AO3 2b)

accessing each event or manually repeating code
to access each event. Mustbe 0to 6, not1to 7.

Allow reference to events (table given) or
arrayEvents (2D array) in answer as long as
used consistently.

BP2 loop allow off by one errors (Python),
looping to array length or array length — 1. Allow
for each iteminarray or any other suitable

[

Example answer 1

total = D
date = input ("Please enter date")
for count = 0 to events.length-1
if events[0, count] == date then
total = total + events[3,count]
endif
next count
print ("There were " + total + "
events cn " + date)

Example answer 2

total = 0
date = input ("Please enter date")
for item in events:

if item[0] == date then

total = total + item[3]

endif
next count
print ("There were " + total + "
events on " + date)
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1 [ (=) 1 mark per correel fow 4 Mo mark given il both boxes in & row ticked,
[ADZ 1B)
OCR Reforence Language Selection | [teration Accepl any responss (licks, crosses, etc) that clearty
Geside indicabes candidate’s cholca.
for i = 1 ®a 10
print{i] W
MEET 1
whileacore |= 0
playgams i) W
endwhile
Lf playerMiti() then
SLOER = ACGER 1 o
endlif
switch bonus:
cama 03 '
sCare = 3
caxa 1:
score = T
case 21
scare = 5
encdawitech
1 [15] #* score = score + 1 N score 4=1 N score+s 1 Alloe other logically cormect answers that result in scace
[A03 2y | Incraasng by one and beirg ovenwritben. Do not acoapt
deata + 1 f seefa = +1
Accept valid struchored English answers that refer bo scons
increasing ard oversriiing ire existing value by one. 8.
“soore beoomesequals scone plus one”
Ignare any superfisous code thad does not affect the cutcome
2 idj (If |» Convertichange one data type o analber 3 Do not accept "change o sinng” — this i the use in this example
¢ Lina 030 30 thres (01 1k, | bufl not & dedfinition.
ADZ 2h)
4 | (&) | I} |+ Mulipication F] Accapl other comect answars that mean the sama
« Divigion (aod fah | Accapd figor § integer divisian i division with no
redmainder (Python v.x)
S | fa) | 6} |s Integer 2 Aceapl alhes valid data types fram high-level languages (g bybe,
- Suing in01za) | shor for inbegars)
Do not accapt descriplions (8.9, “ahole number”, Text’), Do not
accept “characar(s)” for siring.
5 () | Q) |s stayComplete 1 Ignoee spaces or misspeling &8 long as recognisabla.
(ADS 2a)
5 fa) | (i} |« =SELECT FirstMame, Surname, Hights, 4 Order of felds for BP1 not mporiant but must show all fields and
Boom, StayComplete # SELECT * M’:’h“‘ be separated by commas.
= FROM ThlBooki
» WHERE peRE Ignoere capiialisation and spacing. Spalling must be comect. Ignon
= Hights > 1 #f Mights = 2 f Hights quates around numeric values or fieldable names
BETHEEN & ARD 5 Allow other logically valid SOL statements. Check with TL if
required.
Ignoea refarence bo stayComplete or other vald S0OL code that
wiolld nol affect aulpul.
Mace 3 if in wrong order or if includes any extra invalid code
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5 (el | () |« Funclion header for newPrice. .. 4 BF1 must ba clear that & new function = being defined. E.g.
= . .faking (at least) bwo pamamelens 1AD3 26} | Function ! del keyword, Allow FT for subsequent marks if not
. carrectly calculales price hased on paramelens (i prasen.
present] within function. .- _ _ _
* __relurns ihis calculabed price lgnare any code oulside attempt at function definition
Ignare addilional paramelers. ignore inpuls or addiional code as
long as these do nol ovensribe paramelers or affect operation of
Tunetion.
It inputs used instesd of parametars, FT for BP3. Allow use of =15
Tor sscond room iype in BP3,
Afempt gt calculation nesded to award BP4. Must raburn (not
output] wvalue. Return can ba dona a.g. in VB by assigning o
funclion name [‘-.g neaWPEice = pri |_'El:|
.
fTunction newPelcee({nlghts, room)
if room == "bDaslc™ then
price = &0 * nlghta
glseif rocom "premiun™ then
price = B] * nlghta
endif
return price
gndfunction
5 (el () |= Callfunction newPrnice. .. 3 Crder of parameders not important
s __wilh ("premiun”, &) 88 paradmabers 1403 2b) )
o Output returned value “prearium” must use siring delimiters (8.g. “quotas”)
e
print [newPrice {("premium®, 5))
£ = pnewPrice(5, "premium®)
praintix)
Do not allow function definitions for BP1
lgnare capdaligalion of newFelce
Candidale could stare returned value in a variable and then prinl
this, of siore parameters in variables belore pasaing in - these ane
all accaplaka
Ignore any superfiucus coda given
Do mat eredil answers whane newP ice S ovenstitien prior 1o use.
Ignore spaces. Allow Tunclion call if brackets missing (e.g.
newprice inskéad of newprice|) )
5 | (d) = For lpop changed 1o include 0 2 Allorw Ioop changed 1o 0 to 8 or 0 1o O (Pythan)
» total = 0 moved to before loop stars / removad (A0 2o}
Do nept Beccept mowving ioded cutside loop, ME [could be moved o
aftar loop which would still ba a logic eror), Do not acoept move 1o
i6p of lsog.
Acoepl comecbed code shown.
Accept referance 1o count variable limits for BF1.
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SAMPLE )

3 SELECT StudentMame, Subject, Grade 1 Corract Answer Cnby
* FROM Results (AD1 1b)
. — 2 Accepl SELECT *
WHERE Subject = “Art (AO3 2a)
T |b =  radius 2 1 mark per bullat up 1o & maximum of 2 marks,
& argR (AD1 1k)
c | = 3142 1 1 mark for one comect identification.
. 2 (AD2 1a)
LI |
= 30
c | = The number does not need bto be changed while the 1 Maxirmum of 1 mark.
program is running (A0 1a)
= The number can be updated once and it updates
throughoul
d # HAS bean usad 3
= HAS bean used ADZ 1b
#  HAS NOT been used
8 |a Indagar (1)... 1 Cine mark for appropriate data type identified.
(AD3 2a)
« _ number of seconds not imporiant (1) 1 One mark for appropriate justification linked 1o the data
« ... level of accuracy nod needed 50 round to nearast {AD3 1) | type chosen.
minute (1)
* ..using a dacimal to store seconds (0-60) is nol
appropriate (1)
Reeal (1)...
« ... number of seconds may be important (1)
« . allows partsiractons o be stored over integers (1)
i e print (minsPlayed[0,4]) 1 High-level programming language | OCR Exam
(AO3 2b) Reference Language response required
Do not accepl pseudocode | natural English,
print may be a suitable culput command word that
could be found in a HLL e.9. print [Pythan),
console.writeline (WB), cout (C++)
The array elements may be accessed together [0, 4]
(VB.NET) or separately [0] [4] {Python)
8 (d + Initialises total as O gng prints out total the end (as per 4
ariginal program) (AQ3 2¢) | Refersnce Language response required
= LUsas Reration, e.g9. FOR, WHILE )
« .. ihal repests 5 times Do not accepd pseudocode ( natural English.
* ...comectly adds up values using loop index MP1 must have appropriate identifier, = and then the
rurmsEric O
e.g. MIP2 riust have for of while
Eotal = & M3 rust have the for stopping condition 4/5
for & = O to 4 _ MP4 must have the same identifier for MP1 and equal
___veral = eonel + hoursplagudiz, s| and + 1o add the data in the array (using either [x, v
CD.‘.;GIE writeline (tatal) ol ["! [¥]. This cowd be total = total +...OF
toral +=
a.q.
total = 0
for ® in range (0, 4)
total #= houraplayed[2] [x]
MEXT X
print [(total)
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@ | | = Program calls function comectly using howrs and minubes 4 hours = input(*Please enter number of
variahles (03 28) | hours played™)
+ [Paramaters used appropriatehy
= Calculation ls computed accurately minutes = Sipput ("Please enter fpumber of
* [Final lotal is refurned suitabhy minutes played®)

finalTatal - bEotalMins (hours, minutes)

peink (fimalTotal)

function totalMins (hours mirmates)
total = (hoors * 60) + mins
raturn total

endfunction

1. Paramaters named in function must be wsed
within the funclion el

2. Does not matter if funclion wses different names
to those declared in main program

3. Retun must ba included with the comect local
variabla for iotal
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(b) | () |+ Numberwithadecimal /fractional part
*+ Suitable example (e.g. 17.24)

One rmark for defin@ion, one mark for example
Do nol accepd MNoal as definition
AMiow fractions as example

{il} | = Whole number f numberwith no decimal /
fractional part

=  Suitable example (e.g. 17)

One mrark for delmngion, one mark for example

| ) |+ 16
fiiy |= 2
iy [= @

Tel | 0 |= second.substring|3,5)

hgmere prind [/ lack of print. Alow other suitable methods of string
raanapulalion as long & variables used.

Aliowe any valid method that exdracts rightmost & or & characters
of aecand variable.

[ii) |+ firsLsubsting(D,8)

Ignore prind/ lack of print. Allow other suitable methods of siring
manapulation as long 85 variables usad.

Al any walld method thet extracts leftmest 8 or 8 characters of
first varahla_

(i) |+ firstsubsting{®,7)+° " +second
“Scienca * + sacond

* firstsubsting({®, ) + ° is great®

lgnore print/ lack of print. Allow other sultable methods of string
ranspulation as long as variablesis) used.

Aliow alberniative concatenation symbols (e.g. &or ). Allow
concatanation functions

(1] 3 Do mot accept *blank” or any othar returnad value for third call.
Function call Retimed
lgnore case and speling as long as recognisable,
checkbleck (2, 1] B
checkhlock (3, 1) A
checkbleck (2, 3} FREE
(i) + Retums avalue |/ passes back a value 1
el [ 11 [+ Parameler values oulsios index range | langer than 1 Answer musi rafer o eiiner array or gameboard | grid | Hock
4/ grraller than 007 =1, 18 is nol a valid block
{ii} [= Usesalection/IF [ Swilch-Case | range check 3 | Allow equivalent checks (&.g. <5, between 0 and 4) lor BPZ
- chack Mp.mh““ == and == 4 Allow relersncs o ¢ and o &8 pﬂ'h‘l‘ﬂ!l‘!
« ___Retum error code i invalid 1 set oulcome 1o eror BOD handle error for BF3 (e.g. repeat until vald)
Answer must be a description, code by ieelf s NAD
Tid) *  Inpul two position vakies separataly B I Mawchart | slructured English, 6o nolalkee sirnple repeal of
# alls checkblock () funclion et i,
= __with inpui paramaters
+ ... returned value used in selection loop = Trus
« [f free, stores "A” to comect index of gamegrid while loop

array (FT for incormect salection)
= Loops until free posilion chosan

row = input (*enter row®)
col = input (®"enter column®™)
if checkblock|{row,coly == "FREE"™ then
gameqgrid|row,col] = "A"
loop = Falae
endif
endwhile
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1 ja) | 1 mark for each lattar 4 Accapt answers that write the dafinition instead of the
hxllar
Decomposition [i] AL
Absiraction B tath)
Input Sanitisation | A
Casting F
1 B) | ) [» timer = 7.3 1 Ignode dirm | define [ ebc and data bypes
Do not allow use of string delimiters or other unsuitable
ADY | data types.

21 [ Allow other suitable assignment symbals (e.g. = ) Do
not allow == for assignment.
Do not penakse case. Spelling must be accurate

1 (B) | (i) |« Fozal i Floal 1 Allow decimal, single, doubla or equivalent
AD2
ibii}
3 w0 * money 1 bust be an identifier, not descripton. lgnore case.
= Drice
" AN
LRl
| (1] . one 1
3 L] * SELECT ItemCode N * 4 Accepl other fiekds shown in addition 1o TtemCode
= FROM ITEMS
* WHERE m Accept Stock <=5/ elc.
* _Stock < 10 )
Ignore casa. Spelling of fields and table must be comect.
H WHERE missing, Stock < 10 must ba after FROM clausa.
i f 1 mark par bulad 5 Accapt alternative arror messages. Variable names must
= Input from user nod include obvious Spaces
= Check IF input value i3 “en”. .. ADY
= ... ifs0, assign 110 statevalue (%) | BP3 dependent on BPZ. BP2 and BP4 must be a logical
« Comect assignment of 2 for “off” and 3 for comparison using 1F and not just the CASE statemeant. NE
“suspended” with correct stale and IF to simply replace CASE with LF.
= Comrmect logical check (else) 1o culput “invalid )
state” if no state sat Penalise sach amor once then apply FT.
0.4,
newstate = input ["Enter the new state @ ")
1f newstate == "gn- than
statevalue = 1
elasif newstate = "off" then
statevalue = 2
elgeif pewstate = "suspended®
atatevaluye = 3
alae
print ("Invalid state™)
andil
4 || MW |- 3 1 | CAD
wNon
k1)
4 | id) |y | 1 1 |CAD
AN
1b{1]
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Lse of leration (any usa) ..,

. oaps Tor each ibem in armay I loops 6 limes
...t print out each item N studentnames
Lodnput atlendance

Add updcalculate students present and absent
... Dutputs present and absent (in suitable
message)

8 | BP 2and 3 may be met together with suitable input

stalernent. Both dependent on atlempl al ileration.

AD3
48] | BP5 not dependent on commect previous pars,

L.} 3
prant

BPE needs reasonable allempl al todalling present and
absant figures.

lgnore non-inilialisation of counter variables.

Flowcharis ame acoeplable but must show how o solve
the problem, not simply repeat the question.

Ezample algorithm

prazant=0

absent=0

for L = 0 to {studentnamas.langth) -1
print (studentnames [i]}
attendance=input (*absent or present?®)
if attendance=="prasant™ than

preEsent=presantsl

(-3 8. 1]

absant=absant+l

andLlf

["Preasent atudanta: ™ + present)

print [“Absent students: ™ + absent)

2019 )

] &) 1 mark per bullet o max 3 a Comect answer only
ACDE 26 (1)
= eount Accept altematives to adding 1 tovarable (g.g. += 1 ,
¢ = nogoalscount + 1 o)
s nogoalscount _ .
Penalise spalling once only, FT for further mistakes. Do
not penalisa casa.
Accept sensitla messages printed out alongside
nogoalscount
] (€] 1 Cornect answer cnly
= 8 ADT 1B (1) | Do not accepl 3 or 3x 3
B {a) | (@) |1 mark per bullat bo max 6 g Bullet points 3, 4, 5 can be awarded ewen i no mantion
AD3 26 (6) | afunclion / parameters (for example, if candidate has
« Function lickeiprice() defined inputted the number of lickets needed.
= . that acoepls fwo paramelers and has po ofber mpuls g
» ‘Works out total ticket price for adult {eg adult * 19.98) Do mot award réturm value & no atlempl al a fenclion,
» Works out iotal ticket price for chiddren (eg child * B.98) Return mark can be given if & good attempt made at
»  Adds on correct booking lee calculating the iotal, even if this is incormect,
- e calculabed vale.
i - Aliaw 2.50 bocking e 1o be per order or per ticket
Ticked prices must be stored appropriadely f nesded
EXEITI orithm
function ticketprice |numadult, numchild)
price = [Aumadult * 1%,.99) + [numchil
* B.9%9) + 2.540
paturn price
end function
Allow sllematives in high level languages (e.g. def in
Python).
Allow returm &% assigning e value 10 the name of the
Tunction (VB syrtax)
B (a) | () |1 mark per bullet bo max 2 2 Allow String gnly if matching justification shows
AD2 1a (1) |wnderstanding (&g, £ sign attsched, message returned
= Feal.. ADZ 1b (1) | alongside value),
+ . _Retumed value may not be a whole numbar ! may
have a decimal point in
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1 {a) 1 mark per bullet, max 3 Accept text / varchar for string. Do not accept characier.
Do mot accept numbernumens for integer
# Siring Accepl yvesino, iruefalse for Boolean.
= Integer | Int
=  Boolean
1 b | (i) 1 mark per bullel, max 2 il not in cormect order ar Capitalisalion does nol aflect the mark
sdditional statements given. Spellings of fields, tables must be comect.
# SELECT StudentMama lgnore brackets. kgnore quotes arcund StudentMame,
*  FROM conduct Conduct or Points. Mark guotes ancund 0 in WHERE
* 'WHERE Points < 0 clause as ncormecl.
StudeniNama must not include space
Accept <= -1 or squivalent for 3™ bullet point.

1 (B} [y |+ *Jstar/ asterisk Wildcard {*) must be clearly identified as the answer.
Do not allow any other SOL stalerments alongside this
unbess this is given as an example.

1 (e} 1 mark per bullet, max 4 Exampile abgorithm

" Saelection{IF) used if studentdata[3] == "“TRUE" then
® Comparing studenidata[3]... print Tsent”
- -.-with "TRUE" or "FALSE" i TRUE aor alse
FN_EE ) :.TIF1I'|T "not sant”
. Connect culputs ("sent” and “not sent”) and 1f
Bullai point 3 can only be awarded I an attempl is made
at identifying studentdata (e.g. with the wrong index
of no index). Do not allow simply comaning amything
with True / False.
Bullet point 3 can be mplicit
2 (a [y [« 234 All three numbers needed in the comect ordar (with no
other nuembars) for mark,
2 [a) | (§) = 15 Accapl 3x 5
2 b} 1 miark per bullet, max 2 Iprare spelling.
Seguence Do nod allow examples (sg FOR loop [ WHILE loop)
*  |beralion | loops | repelition
2 (e} | i 1 mark par bullat, max 2 Do niot accept “will change” for bullet point 4.
* A (namefidentifier for a) memory location Do nol allow “holds/slores something ™ or “holds/siones
« used to (lemporarily) holds/eontains/stores data | informalion” for bullet pomnt 2.
valus I is assigned a value
« that can be changed | possible to change (while the Do not accept name | identifier without reference to a
program is running) memory hecation. Do nof accept “a value given a namea”
or equivalent
2 fe) | (W) 1 mark par bullel, max 2 Ignore capitalisation.
« k Ciomrect answer only. Do nod allow other code in answer.
=P
= m
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-

® & B ®

Breaks down / dacomposes | modularises the
problem | program [ siructures the program
...making it easier to design/creataitest
...mach subroutine can be tested separately

Reuse code (in different programs)
- Quicker (o develop (mew) programs

.. build on existing work / use of a ibrary of
subroutines

Avoid repatition of coda (in the same program |
JMAkes program shomer [ smaller
... Subprogram called instead of copying/pasting.

... quicker io develop (new) programs

Easier to maintain
...a8 code is easier to understandiraad
...B8 code is shorber

Easier to debug

...B8 code is shorter

...same bugs will not have been copied to other
areas of the program.

‘Work can be split up in a team

..o sult developers” skl ge

ol work on different subprogram at the same time |/
develop separately

Allows for abstraction / removes complexity
. SuUbpIOgrams can be used by programmens who do
not need 1o understand how they work.

4 fa) | (i) 1 mark per filled gap, max 3 Ignore capitalisation,
01 functien librarycode (title, jeaz) Allow librarycode = for 3™ mark - this Is an equivalent
in some languages for retuming a value (eg. Visual
i parta = title.substring(l, 3 Basic),
03 partbk = year.substring(2, 2}
a4 Eaturn parta.upper + parth
05 endfunction
4 {a} | {ii) |1 mark perbullet max & Example algorithm
- lnm.ﬂamm[ﬂmm title = il'll_:hutl“tl.'ll:E: citle™)
*  Open bookrodes year = input (Tenter year®)
= Call Il'r&|ibl'ill'}'l.‘.-ﬂﬂﬂ:lflll'ﬂﬂ.itﬂ'l... code = librarycode (title, year)
- uii'ltrntwupararrﬂum that match I'ﬂ:l.ﬂ'HEHI.H'E myFile = openWrite (“bookcodes.txt®)
e write out code obtained i the taxt file myFile.writelLine (code)
. .|:“| banct il MyFile.close()
Nabe, pseudocode shown above IS an example -
candidaies may answer very differently, but award marks
if imtention can ba seen.
Bullet points 3,4 and 5 could be done in ane lne:
myFile.writeline (librarycode{bicle, yaachl
Do not eward bullet point 3 if candidate is gefining the
function rathes than calling it.
Allow bullet point 2 (opening text file) if comactly refamed
fo during write operation.
Bullet point 3 must include brackets () to signify it is the
function being called or indication that is being called.
4 {b) [ () |1 mark par bullel, max 2. Allow “does not” for second mark if infention is clear (e f
it 5 obvious that the “not” refers 1o not returning a value).
= [Funciion returns a value
= Procedure does not return a value Allowr discussion of how refurned valwe in a function can
b Used (&.0. 10 assign bo & vamdable of bo use this
refurned walwe in soma way).
4 (b} | (i) | 1 mark per bullat, max 4. Mark in pairs. Maximum of two benefits with expanstions to be marked

as par quaestion.
Allow other sensible expansions.

Allow expangions which cross over o ather benafis (e.g.
breaks down the problem [ to make it easier to maintain).

Allow “can be called multiple times™
Allow “file size is smaller”.

Do nok alkow “mone efficient” without further explanation,
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L (a 1 mark per row.
Will loop Will pat
infinitehy loop More than one tick in a row = 0 marks for thal row.
infinitely
v
L
¥
¥
B (B} 1 mark per bullat, max 3. Example algorithm
= FOR loop used for & = 1 & 10
= That cuiputs the counter variable print i
# loops 10 tirme next
Dz not accept WHILE loop for first mark, although other
marks can b accssed,
Mo naed for next
If candidaie manually increments countar within FOR
loop, do nat award bulel paint 3.
Accopl pseudocode thal suggests looping 10 mes, even
if this may mot function cormecily In a specific language.
T (a) | (i) | 1rmark per bullat, max 2, Accept logically correct equivalents for else (e.g. elseif

* glse

# print {("unknown®)

2017 )

al="LAN" and/or a !="WAN"]. Do not aliow
mlaelf onils own

Accept other keywords for print (&.g. “output’) as long as
the intention is clear.

Accept other messages as equivalent b “uknown” (2.9,
“niat kmown * £ “ermort))

Message 1o be prinfed must be in quoles,

Allow “else then .

3| a 1 mark for each psewdocode statement Ignone capitalisation.
Total = Total + Humberhrray(Counk) Accapl any cormpct Symbol or strectured English masaning
division for mean calculation.
Mean = Total /Quantity )
. Accept mean calculations that refer to 11 numbers:
a.g.
Mean = :ﬂtllfﬂﬂ'l.lnt . Totall11
r » Totall{Count+1
Mean = Total/l0 - an{ﬂuunwl 1)
| b 1 mark per bullat, max 2 for dedfinition, 1 for axample 0 marks for "stays the sama” [ “does not change™. Must have
Definition: the idea that it cannot / is impossible to change.
* A location in memory
* A valua/dats thal canndgl be changed (whilst the Corect ansgwer only (“Cuandity”) Tor the exarmple. Do not
PrOGram is running) accapt other sumounding code (ag “Const Quantity = 107 is
Exampla: incomect). Do not accept incorrect spallings. Ignore
* JQuantity capitalisation.
Do not accept “a conslant is a variable that...”
3| e 1 mark for data type, 1 for justification If candidate uses “decimal” as dats type, do not sccept “can
Data type: RealFloat/ Single/Double/Decimal b chscirnal” for the justification.
Justification: can be decimalifractionalimot & whole numiber Dho not award justification if data type is incomact.
i, d i 1 mark per bullel, 16 max 2 Do not accept only an exarmpbe (2g “for loop™).
* A consiouct
+ Cpde is executedirun repeatediyiis looped
+ Until & condition is mathwhile a condition is truafa sat
nurmber of timas
3| d |ii [+ Whileidowhile D not accept “do boop™.
+ Repeal! Repeal unlilido until’ Unfil

GCSECOMPUTERSCIENCETUTOR.COM
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4 SN O 1
4 « A location in memory 2 0 mark for “a variable thai does not change®
»  The valus/contents cannot be changed (whilst the 0 marks for “stays the same”
Program is running)
4 numberQfPages = numberCiPages+numberOiChapiers 1 Acoepl:
« +=instead of = numberCiFages
+  numberCiPagpes=Round Down{numberOfWordsiwords ParPage )
+numberCiChapters
*  mumberfPages=Round Down{numberOfWords300)
+numberCiChapbers
‘ariable namas musi be spell comecily, ignore case
4 * Integerint 2 Do nid allow ‘'resad 10 sgnora the decimal
» It is a whole numberfyou can't have half a word Cannot gel reason il data ype incormect
4 +  Siring (name) 2
* Real'SingleDoubletCumrencyFloat{Decimal) (price)
9 1 ircark pair budled & The output mark can only be awarded if a reasonable
= Taking tha move as input atternpt af adding the free spaces have been parformad
» Chedking if armay element input is free ..
o .. Outputting if it & faken Couming haw many free spaces there ane can be done by
= Wiling “A° 10 Ihe corect array alemant aither:
= Caounling haw frea ce thene ane - ;
L:“ .. Du'lpl-rﬂlmﬂil he nurberof fres spaces (if good . ';m"""l Iﬂ"r'f“;r*“h.l'“d‘m element of the array and updating
8q siampl it counting free spaces) * Subtracting 1 each time an element is taken (this must
INEOT move work, Le. there is no initialksation of the varable e.g. 1o
IF numbers (movel = ™" then 101, as that would run every time and reset the variable).
pumbers (move) = %A Il Initialisafion is wsed, this must be oulside a loop and
BLIE must be 101.
output *taken”
EMDIF
frea =
FOR x = 0 TO 100
IF numbara(®) = "7 than
free = fras + 1
ENDIF
HEXKT
OUTEUT free
B.q.
IHNFUT mave
1F numbers (mowve] = % Chen
numbe s (move) = “A"
numberFres = pumberFres = 1
ELSE
output “takan”
ENDIF
OUTEUT numberfres

GCSECOMPUTERSCIENCETUTOR.COM
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« Lidia

Accept incormect spalling if intention is clear.

=  Program finds there is no position 7 in the array
array index out of bounds

= An arror will eccur §an amor message would ba
dizplayed | program will crash

Oty award bullet 1 if answer is clearly about the contents of
the array and nol about the conbid,

Do mot award bullet 2 if candidate specifically mentions
Synilax grmor,

Examgle
LHPUT HNum
Far i = 1 to Hum
Temp = FlayerName{E)

PlayerMame (6} = PlayerBame(5)
FlayerHama (5} = Playerame (4)
Flayver¥ams (4} FlayecrHame [3)
PlayerHame {3} Playerfame (2]

FlayerHama {2} FlayecrHame (1]
Flayer¥ama (1} Tamp
Haxt i
Award marks for:

= Input the number of places to move {e.g. Mumj

= Lksa of temporary variable{s) or second amay o
avold overwriting values in the array

* Sensible use of a loop

= .. with comecl end condition

= Cormecily deals with moving from position 1 {e.g. 1
+ Mum)

= Corectly deals with moving from position & (e.g.
Mum |

If there is more than one loop, award bullets 3 and 4 for any
non-trivial oo that contribules to the solution,

For bullet 3, *sensible” use of a loop, reqguires that the loop
clearly address the problem (e.g. move every player from
pos a to b), Although candidabes can get partial marks here,
candidates will only get full marks (incl bullet §) if all
conditions of all loops ara comect.

GCSECOMPUTERSCIENCETUTOR.COM
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5 i * Defined within one module... For module allow procedure / function { sub
& .. accessible only in that module / Any routine [/ block of code
mention of scope
* Can be used as parameters Examiner's Comments
* Data is lost at end of module
* Same variable name can be used in Well answered by most candidates.
othar modules without ovenwriting
values/causing emors
* Can overwrite global variables (with the
Sarme name)
] * Defined al start of program
* Exists throughout program / in all Examiner's Comments
modules
* Allows data to be shared by modules MNearly all candidates were able to get at
least one mark on this.
13 heration [1] 1
ADZA
(1
Examiner's Comment:
Well answered by most candidates
It does not return a value [1] 1
AD21
(1)
Examiner's Comment:
A number of candidates clearly did not
appreciate how functions differ from
procedures.
8 * Selection / Branching (1) (A01.1) G Max & marks

. Wnﬂu salection axampln 1) {AD1.2)
ntg a>*b then (

c=b+42
endif
* |teration (1) (AO1.1)

* Working iteration ﬂmmpm {1f AO1.2)
€. for count=

prlnttcount]
next count
* Sequence (1) (A01.1)
* ‘Working Sequence example (1)

(A01.2) )
eg. gty = input/()
total = gty * price

GCSECOMPUTERSCIENCETUTOR.COM

Do not penalise pseudocode if it is does
not conform to the specification
pseudocode guidelines.

Examiner's Comments

The programming constructs of sequence,
iteration and branching are specifically
identified within the specification. Many
candidates were unaware of these named
constructs. Of those who were, many then
failed o give a working example as
required by the question, but went on to
describe rather than exemplify. Reponses
such as looping were (oo vague as
candidates are expected to know the
correct technical vocabulary at AS Level.
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18 * (Slobal variable is visible throughout a 2 Up to 2 marks for a valid descnption.
program / may be accessed from more
than one part of the program (1), local
vanable is visible only in module /
construct where it is created |/ declanad

(1).

Total 2
19 * A function is a named section of 2 Up to 2 marks for a valid descnption.
program (1) that performs a specific
task (1).
* |t retums a value (1), it is often called
inline (1).
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